i ®_Playground
Inground Post/Mount Installation 0 EQIJVilg)menté

STEP: 1

DO NOT CEMENT POSTS/MOUNTS
INTO PLACE UNTIL THE ENTIRE
STRUCTURE IS ASSEMBLED.

Refer to the General Installation
guide footing size information and
digging proper holes for the support

posts/mounts.
10859 E Washington St. Suite 200 Created By: Gage Brown
Indianapolis, IN 46229 Date: 04/26/2018

1-800-667-0097

Page 1 of 1 (Post Installation)



_ : : : ®_Playground
4-foot Double Right Turn Slide Installation 0 quﬁlg)menté

STEP 1

Install posts according to the General

Information Guide. After installing the

posts, using one (1) M10*35 bolt, two
(2) M10 washers, and one (1) M10
lock nut, attach the deck to the pre-

attached deck clamp, as shown in the

image. Repeat this process for the
other deck clamp.

STEP 2

Connect half of the 3.5-inch tube
clamp to the guardrail using one (1)
M8*30 bolt. Set the guardrail into
place, then attach the second half of
the clamp using the hardware
provided in the clamp bag.

Page 1



STEP 3

®_Playground
@@Eqn}’igmenté

Using two (2) M10*25 bolts, four (4)
M10 washers, and two (2) M10 lock
nuts, connect the guardrail to the
deck. Repeat steps 2 and 3 for the
other guardrail.

STEP 4

Using two (2) M10*25 bolts, four (4),
and two (2) lock nuts, connect the
handrail to the guardrail as shown.
Set the bottom end of the handrail

into footing. Information for digging
footers can be found in the General

Installation Guide.

Page 2




®_Playground
@@quilgamenté

STEP 5

Using one (1) M10*25 bolt, two (2)
M10 washers, and one (1) M10 lock
nut, attach the top of the stairway to
the deck on the opposite side of the
posts. Repeat this step for remaining
attachment points.

STEP 6

Using two (2) M10*25 bolts, four (4)
M10 washers, and two (2) M10 lock
nuts, connect the bottom of the
handrail to the stair.

Page 3



STEP: 7

®_Playground
@@Eqn}’igmenté

Attach the deck climber extension to
the proper deck using four (4)
M10*25 bolts, eight (8) M10

washers, and four (4) M10 lock nuts.

STEP: 8

Then, See general installation guide
regarding footing information for the
double slide end mounts. Using two
(2) M8*20 bolts, two (2) M8 spring
gaskets, and two (2) M8 washers,
attach the slide end mounts to the
double slide.

Page 4




STEP: 9

EE)Equi

& Playground
ment:

©

Then, attach the slide to the deck

extension using four (4) M10*45

bolts, eight (8) M10 washers, and
four (4) M10 lock nuts.

STEP: 10

Once the slide is attached, take the
double slide hood and insert hood
into the top of the slide, and then

attach the top using two (2) double

slide clamps, and two (2) M8*30
bolts.

10859 E Washington St. Suite 200
Indianapolis, IN 46229
1-800-667-0097

Page 5

Created By: Aaron Price
Date: 04/10/2018






